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Ex]  (29:5.0%)

inj1}= linea = Line[{{0, 0, 0}, {2, 0, 2}}]

oufi)= Line[{{0, 0, 0}, {2, 0, 2}}]

inj2}= lineb = Line[{{0, 0, 0}, {0, 3, 3}}]

ouel Line[{{0, 0, 0},:{0, 3, 3}}]

in3}= linepl = Line[{{2, 0, 2}, {0, 1, 1}}]

ouar Line[{{2, 0, 2}, {0, 1, 1}}]

inf4}= linep2 = Line[{{0, 3, 3}, {3/2, 0, 3/2}}]

3 3

Oita) Line[{{O, %, 37, {5, 0, 5}}]

injs};= Show[Graphics3D[{linea, lineb, linepl, linep2}]]
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&/ (22,5.0%)

inpi}= lineb = Line[{{0, 0, 0}, {2, 2, 1}}]

Outft}= Line[{{or 0, 0}, {2, 2, 1}}]

In[62}= plane = Line[{{O, 0, o}l {31 3, o}l {3/21 -3/2, 3}! {01 0, 0}}]

oulsz)= Line[{(o, 0, 0},’{3, 3, 0}, {; —2, 3}, {0, 0, 0}}]

n3y= linep = Line[{{0, 0, 0}, {7/3,5/3, 2/3}}]

5 2

Out{3)= Line[{{o, 0, 0}, {;, 5, 5_}}]

inf4j= lineperp = Line[{{7/3, 5/3, 2/3}, {2, 2, 1}}]

7 5

Outfa= Line{{{;, T z}, {2, 2, 1}}]

injs3;= Show[Graphics3D[{plane, lineb, linep, lineperp}], ViewPoint -» {1.8/1.1, 0.2/1.1, 0}]

Outfs3}=

E(ay = S@‘ﬁg(q "o

Y, (1 =1

b= (2 2" ¢ R(A)
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X = X, + Xq
J oxr (PP X = PQ(RQ = O
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